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2008-09 District Competition

Match #1 (Tournament)


These questions are for use in the Virginia High School League’s Scholastic Bowl District Tournament  competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
After his proposal to Eugenie Loyer was rejected, he left his job as an art dealer. His brother Theo, who succeeded as an art dealer, enabled him to pursue life as an artist. Shortly after he painted Portrait of Dr. Gachet (gah-SHAY), he committed suicide in July 1890. After the collapse of a friendship with Paul Gauguin (goh-GAN), what artist of The Potato Eaters and The Starry Night cut off part of his left ear? 

ANSWER: Vincent van Gogh
2.
Its ‘divisor’ is currently 0.12283402. It is calculated by dividing the sum of its components by the divisor. The number of its components has grown from 12 at its 1896 founding to its current 30. Its creators also produce counterparts for Transportation, Utility, and the overall market. General Electric has been a component since its creation, and Kraft Foods is the newest component. On November 28, what closed at 8,829.04? 

ANSWER: Dow Jones Industrial Average (prompt on ‘Dow’)

3.
This four-letter word comes to us from a Gujarati word meaning ‘resevoir.’ It usually refers to a metal container that holds liquids or gasses. It can refer to deliberately losing a sporting event, a decline or failure of some sort, or a sleeveless top. What word, to a solider, refers to a self-propelled armored combat vehicle such as the M1A1? 

ANSWER: tank
4.
In a 2005 poll of the Royal Society, he was ranked as more influential than Albert Einstein. In mathematics, he developed a technique for finding a function’s zeros and made the binomial theorem applicable for any real number. He is better-known for showing a prism could break white light into its component colors and for creating differential calculus simultaneously with Leibniz. Who, in his three-volume Principia Mathematica, outlined three laws of motion and described the force of gravity? 

ANSWER: Isaac Newton
5.
It appeared in the September 1, 1952, issue of Life magazine and had a much better reception than Across the River and Into the Trees, which covered the author’s experience as a World War II corresponded. The title character’s apprentice, Manolin, has been given orders to stay away from the title character, due to the title character’s eighty-four days without catching a fish. A giant marlin and the fisherman Santiago feature in what novella by Ernest Hemingway? 

ANSWER: The Old Man and the Sea
6.
From the Greek for light green, this element’s natural form is a diatomic poisonous gas.  It has an average atomic mass of 35.45 and is the second-lightest halogen.  Name this element found in bleach, swimming pools, and table salt that has atomic number 17 and symbol Cl.

ANSWER: chlorine
7.
Some parts of it are attributed as the words of Agur and Lemuel, while others were copied by ‘men of Hezekiah.’ Its last chapter, which does not state an author, describes a virtuous wife. Its first seven verses state its purpose; reasons include ‘acquiring a disciplined and prudent life’ and ‘giving prudence to the simple.’ Solomon is the stated author of what book of advice and wisdom, located in the Protestant Bible between Psalms and Ecclesiastes? 

ANSWER: book of Proverbs
8.
His most recent work includes non-fiction such as A Time to Fight: Reclaiming a Fair and Just America and Born Fighting: How the Scots-Irish Shaped America. He also wrote the screen play for the movie Rules of Engagement and the 1978 novel Fields of Fire. More famous for his public service, he was Secretary of the Navy between May 1987 and February 1988 under Reagan, but switched parties in 2004. Who defeated George Allen and is now Virginia’s senior senator? 

ANSWER: Jim Webb
9.
These four words were spoken after an encouragement to ‘not wallow in the valley of despair.’ They were repeated eight times – the last before a declaration that ‘every valley shall be exalted,’ and the first before a statement that ‘this nation … will live out the true meaning of its creed.’ They were contained in a speech rated in 1999 by 137 public address professors as the top 20th century political speech. What were these four words spoken on August 28, 1963, by Martin Luther King? 

ANSWER: ‘I have a dream’ speech

10.
It must have two adjacent angles that are supplementary and have diagonals that cut each other in the same ratio.  Some mathematicians consider parallelograms to be a special case of this type of quadrilateral.  Name this shape with one parallel pair of sides whose area is equal to its height times the average length of its bases.

ANSWER: trapezoid
11.
Lithuanian has thirteen different of these; English has but two. Some languages have an adjective form and an adverb form. They can be hanging or dangling if they are not next to the word they are modifying. Latin has one for the future, unlike English, which has present and past types. What are these words used in compound verb tenses? 

ANSWER: participle(s)

12.
He was captured by John de Menteith and sent to London. He had returned home from France, where he had requested assistance from Philip IV. After he was defeated at Falkirk, he resigned as Guardian, a title he earned after defeating heavy cavalry at Stirling Bridge. At his treason trial, he declared that he was innocent, as he considered John Baliol to be his king, and had never sworn loyalty to Edward Longshanks or to England. In 1297, who led a rebellion against English rule in Scotland? 

ANSWER: William Wallace
13.
A rest of equal length is a solid rectangle above the central line of the staff. It is also called a minim (MIH-num), a name reflecting its former status as the shortest note; in some languages it is called a name meaning ‘white,’ reflecting its unfilled status. If the time signature has a denominator of four, it is two measures long. What note consists of a hollow note head and a stem, and is twice as long as a quarter note? 

ANSWER: half note

14.
Before entering politics, he wrote novels such as Sybil and Vivian Grey. He became Prime Minister when Lord Derby resigned, declaring, ‘I have climbed to the top of the greasy pole.’ He died in 1881, shortly after his second ministry ended. To an opponent that made an ethnic slur, he replied: ‘When the ancestors of the right honorable gentleman were brutal savages … mine were priests in the temple of Solomon.’ What Prime Minister alternated terms with his Liberal rival, William Gladstone? 

ANSWER: Benjamin Disraeli
15.
With 20,000 new cases a year, it has papillary, follicular, medullary, or anaplastic varieties.  It can be diagnosed by conducting a fine needle biopsy on a possibly malignant nodule.  One type of treatment involves radioactive iodine.  Name this type of cancer that affects a gland in the neck.

ANSWER: thyroid cancer (prompt on cancer)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
The ‘Square Deal’ was the program of what President who tried and failed to get an unprecedented third term in 1912? 

ANSWER: Theodore Roosevelt
1B.
Who won a Pulitzer Prize for his biography of Abraham Lincoln but is better-known for poems such as ‘Chicago’?

ANSWER: Carl Sandberg
2A.
Who graduated from the University of Alabama in 2007, nearly 38 years after he led the New York Jets to victory in Super Bowl III? 

ANSWER: Joe Namath
3A.
The xiphoid process is the bottom tip of what bone in the chest?

ANSWER: sternum or breastbone
3B.
The Sudanese capital of Khartoum is where the two branches of what river meet? 

ANSWER: Nile River

3B.
What Swedish retailer of modernist furniture recently opened a 930,000-square-foot factory in Danville?


ANSWER: IKEA
4A.
What word describes two people working well together, a sound made by tapping the tongue against the roof of the mouth, or a computer mouse button being pressed? 

ANSWER: click
4B.
What does AIDS stand for?

ANSWER: Acquired Immune Deficiency Syndrome
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  How much money is 9 quarters, 15 dimes, 7 nickels, and 12 pennies?

ANSWER: $4.22
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the area of the ellipse defined by the equation x squared over 81 plus y squared over 16 equals one?

ANSWER: 36pi
6A.
What is the past participle of the Spanish verb ver (vair), meaning ‘to see?’


ANSWER: visto
6B.
What is the atomic number of neon?

ANSWER: ten
7A.
What form of storage consists of integrated circuits that can be accessed in any order, and comes in non-volatile, flash, and dynamic varieties? 

ANSWER: RAM or random-access memory
7B.
Cato the Elder, at the end of all his speeches, declared that what city must be destroyed – a city that was destroyed after the Third Punic War? 

ANSWER: Carthage
8A.
Who refused to be involved with the Fourth Republic due to its weak Presidency, but became the first President of the Fifth Republic of France in 1958? 

ANSWER: Charles de Gaulle
8B.
Antoine Galland added what story to the Thousand and One Nights, a story that involves two genies, a magic ring, and an old oil lamp? 


ANSWER: Aladdin
9A.
What art technique popular in the Roman world involves adhering small pieces of metal, glass, or pottery known as tesserae onto a flat surface? 

ANSWER: mosaic
9B.
Theodore Herzl was the founder of the modern version of what movement that sought to provide the Jews with a homeland? 

ANSWER: Zionism
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the volume of a sphere with a radius of 12 feet?

ANSWER: 2304 pi cubic feet
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Factor the quadratic term x cubed minus 3 x squared minus 73x minus 165.

ANSWER: (x plus 3)(x plus 5)(x minus 11) (can be said in any order)

Third period, 15 toss-ups, 10 points each

1.
Dante took it from mythology to make it the fifth circle of his Inferno. Gods who broke oaths made by it lost their voices for nine years. It converged with three other rivers, including Cocytus, Phlegethon, and Acheron, in a great swamp. Phlegyas and Charon were the ferrymen across what river that could confer immortality and was the boundary between Earth and Hades? 

ANSWER: the River Styx
2.
Less commonly, this rock can be formed from fine-grained volcanic rocks like basalt.  In turn, this rock can also be morphed into phyllite and schist. Its formation from areas of less intense pressure and temperature results in a rock that cleaves into sheets easily.  This is what rock, often used in billiard tables, roof tiles and chalkboards, made from compressed layers of sediment?

ANSWER: slate
3.
Its author said of the title character: ‘I am going to take a heroine whom no-one but myself will much like.’ At its start, the title character takes credit for introducing Miss Taylor to her husband. Despite her efforts, the marriages of Philip and Augusta Elton, Jane Fairfax with Frank Churchill, and Harriet Smith with Robert Martin go through. Mr. Knightley marries the title character at the end of what Jane Austen novel? 


ANSWER: Emma
4.
This film includes Ian McKellen’s voice as a leader of the panserbjorn (pan-ser-byorn), a race known for fashioning armaments from sky-iron. In it, the existence of Dust has been denied by the fundamentalist Magisterium. It features Nicole Kidman as Marisa Coulter and Dakota Blue Richards as Lyra Belacqua. What is this film, boycotted by the Catholic League for its perceived anti-Christian stance, based on Phillip Pullman’s His Dark Materials series? 


ANSWER: The Golden Compass
5.
This man worked with John Flamsteed at the Royal Greenwich Observatory while he was a member of the Royal Society.  A visit to St. Helena led him to chart prevailing oceanic winds, chart more than 300 stars and observe a transit of Mercury across the sun. This is what man who also observed a transit of Venus, and successfully predicted the return of an object featuring a coma and a tail?

ANSWER: Edmund Halley
6.
THIS IS A 10-SECOND COMPUTATION QUESTION.  In simplest terms, what is the probability of rolling an 8 on a fair pair of standard six-sided dice, remembering that there are six ways to roll a seven?

ANSWER: 5/36
7.
The alize (ah-lee-zay) is a component of these, known for bringing cool air to Africa and the Caribbean, and in the Pacific these are part of the Walker Circulation.  The name for this pattern is based on a term that references consistency, rather than for a term regarding the type of traffic carried by this pattern.  Bounding the Intertropical Convergence Zone and located between 5 and 30 degrees latitude, this is what global wind pattern that carried Christopher Columbus to the West Indies?


ANSWER: trade winds or trades
8.
Her father ran two businesses: the pectin-maker Opekta Works and the spice-maker Pectacon. She is best-known for a present received on her 13th birthday that she named ‘Kitty.’ Suspects in her family’s betrayal include Willem van Maaren, Lena van Bladeren-Hartog, and Tonny Ahlers. What is known is that the Achterhuis was raided on August 4, 1944. She died at age 15, sometime in March 1945, at the Bergen-Belsen concentration camp. Who was the author of The Diary of a Young Girl? 


ANSWER: Anne Frank
9.
This county was founded in 1738 and named for King George III’s mother. It contains the southern end of the Skyline Drive and the northern end of the Blue Ridge Parkway. Its original extent was from the Blue Ridge Mountains to the Pacific Ocean, until counties such as Botetourt, Bath, and Rockingham were split off from it. What second-largest by land area Virginia county contains Waynesboro and Staunton? 

ANSWER: Augusta County

10.
This band owns three Grammys for Best Rock Album, the first coming in 2001 along with the award for Best Short Form Music Video.  That video, featuring a cameo by Tenacious D, portrayed the band members as various crew members and passengers aboard a turbulent airplane flight.  Their most recent Grammy win came in 2008, for their album Echoes, Silence, Patience & Grace.  Name this band that sung ‘Best of You’ and ‘Learn to Fly,’ founded by Nirvana drummer Dave Grohl.


ANSWER: Foo Fighters
11.
Its failed spin-offs included Checking In and 704 Hauser. Toward its end, the protagonist bought Kelsey’s Bar and adopted a ten-year-old named Stephanie. Other members of the protagonist’s family included daughter Gloria, hippie son-in-law Mike, and ‘Dingbat’ wife Edith. Maude and The Jeffersons were more successful spin-offs of what 1970s television show about the life and family of Archie Bunker?

ANSWER: All in the Family
12.
It is called Tlo va sa or ‘Our Removal’ by some of those who underwent it. The treaties that enabled it included Dancing Rabbit Creek and New Echota. It was the culmination of a process begun with the Red Stick War. Andrew Jackson refused to enforce the Supreme Court’s ruling in Worcester v. Georgia, which could have stopped its final stages. What was the often-forced migration to Oklahoma undergone in 1831 by members of five Southeastern Native American tribes? 

ANSWER: Trail of Tears
13.
Its author told a friend, ‘I wonder that some of those fellows don’t tell how they felt in those scraps … they’re as emotionless as rocks,’ about veterans’ memories. Its protagonist has friends including Wilson and Jim Conklin, and he is shamed by the ‘tattered soldier’ who had been shot twice. The Ohio-born protagonist eventually proves a steady force in the 304th Regiment during the battle of Chancellorsville. Henry Fielding becomes a Union soldier in what novel by Stephen Crane? 

ANSWER: The Red Badge of Courage
14.
THIS IS A 10-SECOND COMPUTATION QUESTION. To the nearest integer, what is the molecular mass of sulfuric acid, given that its formula is H2SO4 and that the mass of hydrogen is one, the mass of sulfur is 32, and the mass of oxygen is 16?

ANSWER: 98
15.
His father brought back Charles II from exile and his childhood neighbor was Samuel Pepys. He became the world’s largest private landholder in 1681, originally naming his territory New Wales. Once in office, he established freedom of religion, signed a treaty with the Leni Lenape Native Americans, and established a city at the junction of the Schuylkill and Delaware Rivers. Who founded the city of Philadelphia and was the first proprietor and namesake of an English colony? 

ANSWER: William Penn
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Its decay has never been observed, but is predicted to have a half-life of at least ten to the 35th power years. Its antiparticle was discovered in 1955, it was discovered in 1918 by Ernest Rutherford. This baryon is composed of two up quarks and one down quark and is 1836 times heavier than an electron and slightly lighter than a neutron. Name this positively charged hadron found in the atomic nucleus.

ANSWER: proton
2.
An add-on for this titled “I Am Rich” sold eight copies before it was removed. Over 270,000 units were sold in the 30 hours after this product launched on June 29, 2007. When first released, it was only compatible with GSM or EDGE networks, but a “3G” version of this device was released in July 2008. What device features a camera, wireless Internet, and telecommunications capabilities, in addition to playing mp3s and making a mint for Apple? 


ANSWER: iPhone
3.
He was described as ‘a dark-skinned gypsy in aspect,’ and having ‘an erect and handsome figure; and rather morose.’ He was discovered on the streets of Liverpool in 1771, and died in April 1802 at age 37. At 16, he was forced away from home by his adoptive brother Hindley. He had one son, Linton, with his wife Isabella. However, when his beloved married Edgar Linton, he vowed revenge on all who had wronged him. Who loved Catherine Earnshaw in the book Wuthering Heights? 


ANSWER: Heathcliff

4.
Committees in its lower house include Militia, Police, and Public Safety and Counties, Cities, and Towns. Ranges for its size were established by the 1970 Constitution. It is the oldest continuously-meeting legislative body in the Western Hemisphere, tracing its origins to 1619. A 40-member Senate and a 100-member House of Delegates are the components of what legislative body of Virginia? 

ANSWER: Virginia General Assembly 

5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Convert the Roman numeral CLXXVI into a decimal number – given that C equals 100, L equals 50, X equals 10, V equals 5, and I equals 1.

ANSWER: 176
All questions ©2008 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

